1H Mastering Rigid Motions Name

1. Does the transformation preserve orientation?
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2. Which way does-e-pe%e-angle of rotation turn a figuref
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3. Rotate the image on the graph 902 about the origin. i Eo ‘

4. A rectangle is located entirely in quadrant lll. If this rectangle is
reflected across the y-axis, in which quadrant will the new
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5. The vertices of AABC are A(-4,2), B(-1,-3), and C(6,5). The : S S
triangle is translated 2 units to the right and then re ected out
the line y = 1. What is the final location of point A? o
6. Translate the figure 4 units right and 1 unit down. a— D 2 I
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Perform the given transformation.

7. Translation: (x,y)->(x+1,y+1) 8. Reflection across the x-axis
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Graph the image of the figure using the given transformation. }_\ ( 7 5) 1 ‘ ("\ I O)

9. Rotation -90° abgut the origin 10. Reflection across y=x ,2
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Find the coordinates of the vertices of each figure after the given transf"{_mation.

11. Rotation 180° about the origin . 12. Reflection across y=2
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13. Translation: (x,y)-)(x+7,y—i) 14. Translation: (x,y)=>(x+6,y-3)
J(3,2), F( 2 ,3), N(-2,0) 5(-3,3), C(-1,4), W(-2,-1) | :
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15.Name a transformatlon that does not preserve onent ti
Clockwise mlw

16. Find the image of (4,0) under a -90° rotation about the origin C O [ LIL>
17. Find the image of (0,5) under a 90° rotation about the origin.
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leen points A(5, 3), B(-3, 2), and C(4, 0).
ils What is the image of A about the line x=1? ( 3{ 7
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Use the given diagram. i 2 \
19 ldentlfy the transformatlon using coordinate notation. A 1
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